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QRaiBen : 1) SobHULL HTH HERRRA, ARVoD 1,2,3 Toe 4 0w S8 YD HERGRD HEHVHOW

@ D, HOBRE HVEHR S, 1RGP FRALEL. HB HOGHD HERGRHHVDHR) 1 B,
2) HB B, SHRGRHEDBLD 1/4 Bt B0 Bty ol SDIADELD.

3) DQH HEPTRHAVOL BT, RERXID).

1)

2)

3)

4)

5)

6)

036 % £ 8r506® (moaHrm.. ...
q

Express 0.36 in P oo
q

1) 29_5 2) % 3) 4) HBsee5; None of these

-2014 508 2014 S8 ogigie IPERoPO 551 o A

The sum of the Integers between —=2014 and 2014 is.................

1) -2014 2) -4028 3) 0 4) 4029
x3-5x3+5x%+5x-k 3% (x+1) 28 se8eroso @and k Qend..............

x+1 is a factor of x*-5x3+5x>+5x-k then the value of Kis..............

1) 6 2) -6 3) -1 4) 1
If 22x3P=576 woms (then) a+b=.......ooo..........
1) 24 2) 16 3) 9 4) 8

2.8 $B03055m £hassn KD 3.5 0.8, wowd ol (HEde Sexo..... 20.8.2

The length of the side of a cube is 3.5 cm. then its lateral surface area is

2
.............. cm

1) 12.25 2) 42.875 3) 73.5 4) 49

1
If V2=1.4 eons (then) —= = wrerrrrireee
@00 (then) 03

7

1) 5.6 2) 1.4 3) 0.7 4) - @
20

—/)
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7) If /9604 =98 ©onS (then) 4/0.009604 =...............

1) 0.0098 2) 0.980 3) 0.908 4) 0.098

8) 461 ©3B...veeveeennn.. s Tol i L] I LR B — number
1) Sdocing; Composite 2) HGrS; Prime 3) $50:3°8; Perfect 4) $8; Square

9) 2&0Hs Frly Denden -3, 2 GONN B DITVDB. ...vvvwiirnninne
The zeroes of a polynomial are -3, 2 then the polynomial is...............

1) x%4x-6 2) x2-x-6 3) X24x+6  4) x2—x+6

10) 11,12,13,14,15,16 $582080:858) ePT0EEO. ..vuuunnrnenaien
For the data 11,12,13,14,15,16 mode is...........ccoceceiaireaens

1) 11 2) 13 3) 16 4) B God; does not exist
11) y-o80 SBBERO........uuneee. : The equation of y-axis iS...........ccc......

1) x=0 2) y= 3) x=y 4) x+y=0
12) (80& &E° DGDS BEH......... : Which of the following is defined term?

1) So%o; Plane 2) @odoe¢sn; Space 3) O; Line 4) 8%aio; Angle

13) f(x) (ax+b) I grROS® H5) FRED .ocvvvernnes

The ramainder when a polynomial f(x) is divided by (ax+b) is.........

b -b a -a
o) ) 0l o)
14) APQR&® PQ>QR &@0nS........ou.... : InAPQR, PQ>QR then............
1) [R</P 2) [P>/Q 3) /[R>/P 4)/P</Q

15) [Bobard&® a0 2867?; Which of the following is polynomial?

1) x% —6vx +2 2) J§+% 3) x2—+53le 4) HDbseesy; None of these
18) 087 =13 . reormemmmsasivess
1) 947000 2) 749000 3) 794000 4) 974000 @
\S 7,
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17)

18)

19)

20)

21)

22)

23)

=

9x-9

If 977 "=1 oS (then) x=.....cccceevruuen-nn.

1) 0 2) 1 3) 2 4) 3

PEHSR (BESDOD SBDPA0DS GFEBAD KBS TFaEd....cvvve..
The Indian Mathematician who used Pythagorean triplets................

1) F°grch; Boudhayan 2) gryorardy; Bhaskaracharya

3) oedrdowms; Ramanujan  4) edgEey; Aryabhatta

50,42,2,21, 19, 12 o5 s0ggidsn 25.5 s*S8J5) ‘a’ Dend...........
For what value of ‘a’ will 25.5 be the median of 50, 42, a, 21, 19, 12
1) 30 2) 315 3) 30.5 4) 32

Boto EFSE OFOR K0 DOEHY 1vvvverrreennnn.
The point which lies on both axes is.....................

1) (1.1 2) (-1.-1) 3) (2,0) 4) (0,0)

Bod a»E® D S&E?; Which of the following is correct?

a) X°+1% seberoseen (x+1), (X2+x+1); Factor of x3+1 are (x+1), (x>+x+1)
b) X*+1% steroscen (x+1), (E-x+1); Factor of x3+1 are (x+1), (}X%—x+1)
0) X°-1% sedemoseen (x—1), (x*-x+1); Factor of x*~1 are (x—1), (x*—x+1)

d) x*-1% sedemosren (x—1), (x*+x+1); Factor of x*~1 are (x=1), (x2+x+1)

1) AandB 2) AandD 3) BandD 4)B,CandD

‘n’ 030 H0IE BBHoms SR Siraions @S Vn O3O. ...... Sogy ©IH

(4]

If ‘n’ is a natural number other than a perfect square number then n
Wiuvasivesssivnsin IUTDEE:

1) o¥8éaD; Rational 2) ¥sdab; Irrational

3) ®H&ee3; Natural 4) dbsetH; None of these
S&H5206°) Treurd @oSBE e JVELD ...cu.e eo Seren.
Sum of the four interior angles of a quadrilateral is............. right angles.

1) 360 2) 4 3) 2 4) 1 @
Z,




= ﬁ

24) (1-2)+2-3)+H3=4)+........ HI100-101)=.ceereerennsee

1) 100 2) -100 3) 101 4) -101
25) —5Xy’ 05008 ol HOBPEBO. .oviuviirnnnnen

The degree of the polynomial =5Xy” 1S ......ccvveerrvnenen.

1) 1 2) 2 3) 3 4) -5

1
26) If x——=4 o0 (then) K2 +—=.omrrc
X X

1) 12 2) 14 3) 16 4) 18
27) 3x-5y=8 58 Ko oS0 [S0PG .cvvveerineenns

The number of solutions of 3x-5y=8 is....c.cccuvene

1) 1 2) 2 3) 4 4) edo&o; Infinite
28) If gVx —2V15 ewomis (then) X=...........ooorron

3 15 5 8

L ] 28 33 T
29) x*+8x*—x—8 Gn¥) 2.8 EBETOEED ...eee

One of the factors of X +8X2—X~8 iS.cuvvvererirerrnnnnns

1) x4 2) x-2 3) x+8 4) x-8
30) oroaR ghere 08 DodHHobr SHdr E0HS S'Jtﬁo)da s 7 R

The figure formed by joining the midpoints of the sides of a rhombus is....

1) oro®; Rhombus 2) Sed(Hd&w; Square

3) Jdrody SSdyedn; Parallelogram 4) égﬁ H58(H50; Rectangle
31) (8obarS® D voatns (Babesdn BwE) ghasdmen?

Which of the following are the sides of a right-angled triangle?

1) 5,811 2) 6,8,12 3) 56,3365 4)3,4,6
32) If x=2 &8ci» (and) y=-2 e@ond (then) x—y Y=......cccecevvrrerena.

1) 18 2) -18 3) 14 4) -14

) ) ) ) @




33)

34)

35)

36)

37)

38)

39)

If ptq+r=0 @ows (then) p3+q3+r3: ......................
1) par 2) Ypar 3) p’er’  4)33p’er

‘4 B8 woSETY) DB (98 $OKoggH ErEe Bo (HHed Sogge Fogore
(EPA0HEN0" WP 88 ..et crvniiiiens

“Every even number greaterthan 4 can be written as sum of two primes’
T TS, B

1) §J§§Jéo; Axiom 2) H05e)s; Conjecture 3) gee; Postulate 4}&13;0%&»; Theorem

2.8 Bk @) SosgrEssn & 5o D800 @S TR DB ....w..
The supplementary angle of an angle is twice the angle, then the angle is...
1) 45° 2) 30° 3) 60° 4) 90°

x=0 065 y=1 @058 5x-by+3=0 & LS wand ‘b’ Dend.............
If x=0and y=1 is a solution of 5x-by+3=0 then the value of ‘b’ is...........
1) 1 2) 5 3) -3 4) 3

AABCS® AB=AC, AD 658, /BAD=50" @cwd [CAD=..............

A ABC is Isosceles with sides AB=AC, AD is the altitude,
if /BAD=50" then /CAD-=...........

1) 40° 2) 130° 3) 50° 4)H&seeH; None of these
5.5 ($55006° If/m @S X=..ceiinnns
In the adjacent figure ///m then x=.............
% / - 1y 75" 2) 225°  3)25°  4) 15°

DEgeoddss iﬁiﬁ:tﬁ@ao ABCD&® AB=4 20.8., BC=3 0.8. wons
() ié:é.g%"@é.............?oo.ﬁ:.

In a parallelogram ABCD, AB=4 cm., BC=3 cm. then its perimeter is
-

1) 14 2) 7 3) 12 4)5 @
J
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40)

41)

42)

43)

44)

45)

46)

7,

TUOI5D 235H8%D &%.............; Which of the following is 7t day?

1) 14th March  2) 14th December 3) 14th April  4) 14th November

3,5 @ Bogges ISEEre woBHKIHn EnE) DE%BW. ... ...
The reciprocal of the arithmetic mean of the reciprocals of the numbers
1 15 4
1) 4 —_ = e
) 2) 4 e 4 G 15

(x-2) (x-b) (X=C)errreo(x~2) _
M (2) (3).........(26) FesRR AR

1) 0 2) 1 3) 13 4) 26

H55e0pen X-y=0 086D X+y=2 en.............. Do) HE PolioHE .
Lines x~y=0 and x+y=2 meet at point............ccco....

1) (2.2) 2) (1,0 3) (1,1) 4) (0,2)

INM=g won:d /,m Spen 28008 2.88............

If [Nm=g then the lines / and m are.........c.coueeveee

1) e©oaren; Perpendicular 2) drodoren; Parallel
3) oS Opew; Intersecting Lines  4) d&setd; None of these
530350 (§gHes ePTERED. o vvcrnienien,

Exterior angle of an equilateral triangle...................

1) 60° 2} 120° 3) 90° 4) 180°

90 exdibe S*&Ke rE%D 85 (H8 IS e wbides P8 Rod, Jobrd
Heperd 3 ethrhen (§oud rid. ©b Y ADires’ erdps Sifyh?

A frog in 90 feet deep well is venturing to come to the top ground. It hops
6 feet in a minute but slips down by 3 feet every minute. How long will it
take for the frog to reach the top ground?

1) 29 2) 28 3) 15 4) 30 ®
Z,
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47)

49)

50)

\S

.;H

(3E5008° A (Beberen EoH?

How many triangles are there in the adjacent figure?

1) 12 2) 14 3) 16 4)17

AABC&® BC=8 20.5. 5865 D,Een AB, ACe
Bos) Sty Dotdhen v AF= -15 AD 0805

AG=% AL 6o FG=onoris 20. 0.

In A ABC, BC=8 and D,E are the midpoints of

AB and AC also AF= % AD and

AG= %AE thenh FG=....ccaii. G

1) 4 2) 32 3) 3 4) 2

Bod Serodhin @E) @o¥Heikdn 3.55 ©ond p DD ......
Find the missing value of p from the following table when A.M. is 3.55

Xi123456
. [ 8 | 9] P |16] 98

1) 10 2) 9 3) 16 4) 8

“RAMANUJAN MATHEMATICS CLUB” 3 555065 Srege Hoay
o800 i) Doggedd 8.3, 0. S0 K.3°.5°.0 P ...ovvvvvenn I

The ratio of L.C.M. and H.C.F. of number of consonants and number of
vowels in the word ‘RAMANUJAN MATHEMATICS CLUB’ is...........

1) 15:1 2) 1:15 3) 5:3 4) 3:5




